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1. 73x =  � 7712,1x ≈  

2. 1)205(4 x =−⋅  � 8691,1x ≈  

3. 012,35,0 x =−⋅  � 5959,0x ≈  

4. 7252613 2x =−  � 3633,6x ≈  

5. 0237 5x =⋅− −  � 2224,6x ≈  

6. 0734 2x3 =+⋅ −  � φ=L  

7. xx2 5325 ⋅=+   
Substitution: z5x =  � 0x1 =   4307,0x2 ≈  

8. 06a5a xx2 =+⋅− ; 0a >  

Substitution: zax =  � 
aln
3ln

x1 =   aln
2ln

x2 =  

9. 10833 x1x =++  
Ausklammern von x3  � 3x =  

10. 677 1xx += −  
Ausklammern von x7  � 1x =  

11. 2xxx1x 3232 ++ +=+  � 1285,5x −≈  

12. 4x1x24x1x2 5959 +−−+ +=+  � 5271,1x ≈  


